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=% fR1em Y, 2020 B YRG WBR R B9 BT frar man?
(@) 29 gemrg, 2020 (@) 30 9eE, 2020

(1) 29 3FT, 2020 (&) 30 3R, 2020

When was the New Education Policy, 2020, announced by the government of
India?

(A) 29 July, 2020 (B} 30 July, 2020

(C) 29 August, 2020 (D) 30 August, 2020

3 e Nfa, 2020 4 e e w1 ywu ¥
(F)a+4+3+4 (@)5+3+3+4
(M5+3+4+3 (F)2+3+5+5

The format of school education in the New Education Policy, 2020 is
(A) 4+ 4+3+4 B)5+3+3+4

(C)5+3+4+3 D)2+3+5+5

=3 f¥ten R, 2020 ¥ freread fren @ oifa yrea 4 yd wefe fien @ e fsam ad
FuifRa €2
()2 o4 (@)3 a4 (71) 4 o9 ()5 79

In the New Education Policy, 2020, how many years are set for pre-primary
education in the declared format of school education?
(A) 2 years (B) 3 years (C) 4 years (D} 5 years

W&o e qo—ura @ g wasy yard) B

(@) sraTa-TRTeqor & ugal (@) vara—TRreqor & 915

(1) srar-frem & SR (&) T | DI @

Micro teaching is most effective for the student-teacher :—

(A) before the practice teaching (B) after the practice teaching
(C) during the practice teaching (D} none of these

T 9 ©F RRETe s fatml | enfie w8 27
(®)area fafy (@) s ueeh fafy
(31) UrgagwTs fafy (&) aRaren (wrdern) fafy



Which of these is not included in traditional teaching methods?
{A) Lecture method {B) Lecture-demonstration method
(C} Textbook method (D) Project method

g WIoige BUS’ Iy 9 fhee R &7

() s, T, Theufes (@) §ifq Sran

() T W (er) 599 @ Big e
Who has written "The Project Method' research paper?
(A) W. H. Kilpatrick (B) John Dewey
(C) Herbert Spencer (D} None of these

A ol & ey | S— BuA U w7

(&) SaTERUI P1 STaeticbT Bl Ud T Freprern
(@) wr=iawer g1 Fram o1 fato s

(31) =i o1 1810 U9 Gearae B

(&) SuRIaE |

Which statement is true regarding the inductive method?
{A) Observing examples and drawing conclusions

(B) Rule making by generalization

{C) To test and verify the rules

(D) All of these

aﬁmam%ﬁmw—ﬁﬁﬁmwﬁm%—

(&) guray (@) fTregwray (1) A (a) 574 94 18 T8
Long sentences and negative language make communication

(A) effective (B} ineffective (C) normal (D) none of these
PR et B oref ¥

(@) wem & 915 Ty frar e &

(@Yo & g vy foean o &

(37) =T B AUEHTIS DI €T A e ge vy fvar o ¥
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10.

11.

12.

13.

Post facto research is :

(A) Research is done after the event

(B) Pre-incident research is done

(C) Research is carried out keeping in mind the possibilities of the event
(D} None of these

Fr=ferfea W < o saw Suaifay gdeor ) fRrovwar =8 ¥7
(@) avgforeear (@) 3regeer (1) fergaa=iraen (&) aeen

Which of the following is not speciality of achievement testing?
(A) Objectivity (B) Vagueness (C) Reliability (D) Validity

e va wrfSe—aniie famr o w1 day &7
(®) @IS Hay 78 § (@) T qAR & YA §
(1) T N D WY FHARIRN § (=) 3799 A B T8

What is the relationship between education and socio-economic development?
(A) There is no connection

(B) Are inversely proportional to each other

(C) Are directly proportional to each other

(D) None of these

Teeqor srferm A
(&) Rierpt & srjama a1 ATy (@) Rrenfi @ ergaga e arfde
(1) fReror SR val & arpaat B =T (1) ¥ vd =@ B TRy

Teaching learning material

(A) should be friendly to teachers

(B) should be friendly to students

(C) must adept to teaching objectives
(D) should be colorful and interesting

WO ¥ A= oY M 1 IMTeher AW Sugad w9 W fraferRaa aistoi 3 9 fhud g
foran o w7

(&) SeTie Theron (@) Suafds gdem

(1) arfretr aderor (&) wHIfT oy

Learning disabilities in mathematics can be assessed most appropriately by
which of the following tests?

(A) Diagnostict test "~ (B) Achievement test

(C) Aptitude test (D) Screening test
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Rreneht 1 viewea =8 fvan i =R

(%)W & o il @ e witea w9 < I v @ forg
(@)= wi yosl & SR AT B @ Ry o Riee 1o aes ¥

(71) g B # s fienRial & W afey vy 9 e e @ g
(=) 399 QB T

Learners should not be encouraged to

(A) actively interact with other learners in group

(B) memories all the answers to questions which the teachers may ask
(C) actively interact with other learners in group work

(D) none of these

T RigTa & w9 # vaemER

() Rers & v e Wik S ®

(@) B e R By ¥

(1) TR & IMER 9L RN B G1E WEE W g 91
(=) 379 9 &I 7

Constructivism as a theory

(A) empahsises on the dominant role of the teacher

(B) focuses on the role of imitation

(C) emphasises memorizing information on the basis of remembrance
(D) none of these

T - R A waifte Tewyet @@ ¥?

(F) saiegdy (@) a1 e

(31) feeron srfepm wrh (=) \arfoTes o b
What is most important in language teaching learning?

(A) Antyakshri (B) Children literature
(C) Teaching learning material (D} Social interaction

Aa I o 69 sraven 9= & <frgm &) 1fa waifte - &2
() Srevargen (@) greamave (1) freiRmasen (=) drgraRen

At which stage of human development, the speed of learning of children is

highest?
(A) Infancy (B) Childhood (C) Adolescence (D) Maturity
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gfes fafey 4

(&) foenRial & wrifie ot @& foro wemfa fvar < &

(= ) ferenf3fai @t e enenfRa f3emmr 39 WX 9 B B

(1) frenffat § forsren wd @ A aifigRy el s & mafea a0 3
(=) forepe @ 3R 71 S

In Heuristic method

(A) Students are encouraged to do practical work

(B) The emphasis is on giving art based learning to students

(C) Students have priority in developing curiosity and their own aptitude
(D) Option B and C both

SR gTearaRen B fore BE-1 $ee sy B

(%) 39 3aven d uferaRer @ 9 @ e g &

() 39 3reen A Nl & FERi &R goma! & WeR &9 &) ygfy 98 ol &
(37) 39 3= A dreri ¥ TTRRY U9 SEEes) B e B ¥

() 39 rg=en H gl § YTy &1 9ig W fand < ®)

Which statement is false for post childhood?

(A) In this period, the spirit of competition develops

(B} In this stage there is a tendency to accept the views and suffusions of
others

(C) In this stage, there is a development of responsibility and accountability in
children

(D) In this stage, the feeling of shyness is generally visible in the children

i gfe W dfm are®

(&) ArfoTd WEHIT & BT AEToTe TReNad iR e A dkm A v E

(@) wHTS # S1i¥e SRIAFET B9 @ HIRUT S8 TG BT AT BT ISl &, THB! diethi
I e wR yRipe SR ysan ¥

(1) A g2 ARRM Wad TR guRs A IRE B

(&) T | Pig TE

Economically Backward children

(A} deprived of social mobility and development due to social discrimination

(B) due to economic inequality in the society, they have to face poverty, this
has an adverse effect on the education of children

(C) such children suffer from serious learning problems

(D) None of these
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ATATARYI & TR TG Bl STl Fa1 FEA &7
(&) WS (@) gz (31) A=frepvor (o) 37 A 31 78

Changing oneself according to the environment is called
(A) Adjustment (B) Adaptation  (C) Equilibration (D) None of these

"aErel TR Rl w1 wg e ¥, weih gt @ Ry we e ¥ 0w wee
(F)aaE

(@) srem &

(1) <iffes qatue B gorfan §

(=) Rl & wNE R 31 aare

"Woman cannot climb mountains while it is easy for men to climb." This
statement is

(A) True

(B} False

(C} Shows gender bias

(D) Indicates the poor health of women

%—%WWW%G&HW%@W%WW%?
(®) faerera seTRa wrga=at A gur (@) wrrd gur
(1) AT R (=) 3¢ & a9

Which of the following is important for the proper inclusion of children for
various backgrounds?

(A} School based curriculum reform (B) Language improvement

(C) Institutional reform (D) All of the above

=1 4 9 foraer ddy g9 ¥ 27
(%) Femftean (@) fewbemforar (7)) feanfem (=) sraiferTan

2

Whih of the following is related to confusion?
(A) Dysmorphia (B) Discalculia  (C) Disgraphia (D) Alexia

T A B fUse areta! & waw & wite T8 ¥7

(&)W o fFrren @ sva (@) dre= & 99 iy
(1) wrfore St @ i TeuRE () =aerR Had sl B fieafia
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Which of the following is not involved in the problem of backward children?
(A) Experiencing disappointment in learning

(B) Slow learning

(C}) Readiness for social work

(D) Expression of behavioral problems

foroex T o

() DT~ UV Bfed B ¥
(@)aa & 9iers ¥ WReH W) gef ool §
(1) wd B e T Sl &

(1) oy |
Kindergarten system

(A} Focuses on classroom study (B) Emphasizes learning through play
(C) Itis self learning based (D) All of the above

T ¥ Tauw fasey o 8°
() AEGC (@) 0sVQ (1) HLNJ (=) VUBX

Which one is the odd option?
(A) AEGC (B) OSVQ (C) HLNJ (D) VJUBX

f ido-uf¥=m Sor 2 S ¥, O STe-qd @1 € S ?
(F) T (=) =féro (1) 7d (=) ufd=m

If the south-west becomes north, then what will north-east become?

(A) North (B) South (C) East (D) West

Te dfeRT | HIe &1 B ST IR | UrEal ¥, @) ufed ¥ g fem afim ¥?

(®)8 (@)7 (31) 10 (a) 37 A BIE &

Mohan's serial number is fifth from either side in a row, then how many
persons are there in the row?

(A) 8 B) 7 (C) 9 (D) None of these
| fawed &1 a1 B @l &1 qof o

3,2,6,8,18,40, 7

(®)70 (@) 71 (1) 73 (&) 399 9 BIg Tt



31.

32.

33.

Complete the series by selecting the correct option :
3,2,6,8,18,40,7?
(A) 70 B) 71 (C) 73 (D) None of these

ETAEAD, DYHAEB P, ERARIECAMRCYRNEB A, D &1 E A w1 Rean ¥7
(w)wrs (@) (1) =ren (&1) rem

E is son of A, D is son of B, E is married to C and C is the daughter of B,
then what is the relation between D and E?

(A) Brother (B) Father in law (C} Uncle (D) Brother in law
Rea s a1 ¥ |

AN
X=X

56
? 28

N/

()6 (@)1 (1) 8 (") 9

Fill in the blanks :
N
X X
56
? 28
W

(A) 6 (B) 7 (C) 8 (D) 9

R <o @ g &

36125
27

?
1V 23
21 30

()19 (@)35 (71) 32 (®1)33
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35.
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37.

Fill in the blanks :

36(25
P 27

1% 23
21 30

(A) 19 (B) 35 (C) 32 (D) 33

Al S g Al ¥ U U SUYE ¥, 98 B §
52, 25, 36, 63, 74, 47, 56, 85

(®)25 (@) 74 (71) 56 (=) 85

Which of the following is an odd number in the series given below?
52,25, 36, 63, 74, 47, 56, 85

(A) 25 (B) 74 (C) 56 (D) 85
1 SR &
| 0.04
1 2 5
(F) 25 (@)% () 5 (®) 25
o
0.04 is equal to |
1 2 5
A 75 ®) 3 © 3 (D) 25

33k 200 & 97 7 9 fawrsy feeam Wi wed 7
()27 ()28 (1) 29 (&1) 30

How many natural numbers divisible by 7 are there between 3 and 2007
(a) 27 (B} 28 (C) 29 (D) 30

g8 gATH AET T YOI § TRl 16, 20 AR 24 § favrsw ¥, ¥ -
(®)1600 (@)3600 (31) 6400 () 14400

The least number, which is a perfect square and is divisible by each of the
numbers 16, 20 and 24, is
{A) 1600 (B) 3600 (C) 6400 (D) 14400
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<1 e B O 216 ¥, A ST HEwH WATIAEE 6 ¥ o ST WA 2
(®)712 (W)eo0 (71) 48 (®1)36

The product of two numbers is 216. The HCF is 6, then their LCM is
(A) 72 (B) 60 (C) 48 (D) 36

a, baﬁvcaﬂsﬁmazo'%;b,cﬁmdmsﬁﬂazs%laﬁdzso%a‘lammwﬁm?
(@)25 (@) 45 (1) 30 (=1) 15

The average of a, b & ¢ is 20 and that of b, ¢ & d is 25. If d = 30, then the
value of a =?
(A) 25 (B) 45 (C) 30 (D) 15

<1 H@ISH B ARTEE 40 3R TTHT 3 4 ¥, o Wit 1 s ¥
(®)21:19 ()22 :9 (M 11:9 (=) 11 :18

The sum of two numbers is 40 and their difference is 4. The ratio of the
number is :
(A) 21:19 (B) 22:9 (C} 11:9 D)y 11:18

60 e @ fsor 3 o SR Ul B SrguE 2 1 1 %15V 1 1 2 B YU § 9 B Rrv s
e ur fyern 2 ?
(®)40 efex (@) 52 afex (1) 54 <= (9) 60 TR

In a mixture of 60 litres, the ratio of milk and water is 2 : 1. How much more
water must be added to make its ratio?
(A) 40 litres (B) 52 litres (C) 54 litres (D} 60 litres

Ifg A &1 20% = B &1 50 9iiwrd ¥, |1 A o1 e e B 7
(¥)30% (@) 40% (1) 25% (1) 15%

If 20% of A = 50% of B, then what percent of Ais B ?

(A) 30% (B) 40% (C) 25% (D) 15%
TRP &

(@) <ehfaor e aesd (@) <134 e wrEes

(1) Srea Y wgew (a1) 399 W BIE 7
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TRP is
(A) Television Rating Points
(C) Total Rating Points

BISIT TR g1 Rerd
(P ) =T (@) wremery

Kaziranga Park is located in

(A) Assam (B) Meghalaya
A BY' P G ¥

(F) e (@) el
Rovers Cup is related to

{A) Cricket (B) Hockey
TSl 7Y §

(&) aut <faq ad

(1) T yBR T G fivs

Light year is

(A} Rain free year
(C) A type of celestial body

Y[€ W B PH B &
(®)6 (|)7

PH of pure water is

(A) 6 (B) 7

(B) Time Rating Points
(D} None of these

(1) faferpw (=) Porgar
(C) Sikkim (D) Tripura
(1) meaia (9) TR
(C) Football (D) Chess
(@) @ieira g8 &1 AED

(&) @ R v 9t 99

(B) Astronomical distance unit
(D) Solar eclipse year

(M) 8

(a1)9

(€ 8 (D) 9

Shiferaiaren amT TS o Sita & forg fvw e ) Frgle o 78 of?

(&) TR FITH
(1) e HATH

Which commission was appointed to investigate the Jallianwala Bagh

massacre?
(A) Hunter commission
(C) Royal commission

(@) T Biax e
(&) fermferem e

(B) Henry ford commission
(D) Linlithgow commission

M
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() Tanfera™ =R (=) Yardy TR
() wfearen == (&) 99T TR

Pandit Jasraj is related to
(A) Gwalior Gharana (B) Mewati Gharana
(C} Patiala Gharana (D) Banaras Gharana

‘THTF UM : T 3FeEes TN fibed & -IId B

() SIS TR (@) R Rig

(1) gera Rig weiga (=) TR

The Hero of the film "M.S. Dhoni : The Untold Story" is ....
(A) Ayushman Khurana (B) Ranveer Singh
{C) Sushant Singh Rajput (D} Rajkumar
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Biology

P s g BI¥e ad= fr=ifaRaa & e e &7
(@) gt (@)smv@ (W)= ‘® wen @ (u) e

Vegetative Propagation is carried out by means of rhizome in which
of the following?
(A) Turmeric (B) Ginger (C) Both A and B (D) Potato

frifda 7 ¥ fvet S SNarerw =T wran &2
(®) ATsHw (@) W (1) rgferm (=) wifRan

Which of the following is considered as living fossils?

(A) Cycas (B) Sphagnum  (C) Rhynia (D) Funaria
IFTRIToT ¥ e YBR BT Yoy urn e §?
() fergfor (=) Brafora

(M) EF s 9w (") 3 A DS 96
Which type of endosperm is found in Gymnosperms?

(A) Diploid (B) Triploid
(C) Both Aand B (D) None of these

o /1 9 9 forad =8 |ar ?
(@) drara (@ae  (Mwd (F) T ABE 98

Stomata do not occur in which of the following?
(A) Algae (B) Moss (C) Fern (D) None of these
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(&) sree=ARan Aier () SRS 31

(1) uferaferan wriifora (|) SreimF SRReH
Pycniospores are produced by which of the following?

(A) Alternaria Solani (B) Ustilaga nuda

(B) Puccinia graminis (D) Xanthomonas campestris
et ford @1 a9 w®an R?

(%) Ao gaRaA (@) urgu= fom

(1) Dftasd T (31) ISR AR

What is botanical name of red chillies?

(A) Solanum tuberosum (B) Piper nigrum

(C) Capsicum annum (D) Piper longum
SRfA wefed B

(%) 3rpdf® e | (@) urgfias =g+ ¥
(1) SeaRad= © (a) 574 A |f
Darwin is associated with-

(A) Inorganic evolution (B) Natural selection
(C) Mutation (D) All of these

i fAifdpd § A fad a7an 27

() SITge () welieH

(1) wie Bfagq (&) dasd Biead
Cork is formed from which of the following?

(A) Xylem (B) Phloem

(C) Cork cambium (D) Vascular cambium
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(®) fheargaiaEasa (@) Rerpasd dfes
(1) <1 ‘%’ den ‘|’ (&) ATShIdIand

Milk sugar lactose is converted into lactic acid with the help of-

(A) Methylococcus (B) Streptococcus lactis
(C) Both Aand B (D) Micrococcus

frr=ifda 9 W @9 I eHeT Bl &1 SeTevur ¥7?

() STeUT (@) are
(@) el (°1) 3R

Which of the following is an example of Parthenocarpic fruit?

(A) Pear (B) Guava
(C) Banana (D) Pomegranate

ASIHS B F1ST A1 3T B FIT HEl ATl &2

(F) TeprmH (@) SrafifrE

(1) Smfvam (=) SIS@rTE

What is called female sex organ of Rhodophyceae?
(A) Ascogonium (B) Carpogonium

(C) Oogonium (D) Trichogyne
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AfeefRa ow <rse oiw IS Freifsa fra Iors @ g Sad) 7
() SelHFRT Al (@) T sirTeoh
(1) SFAIHERT SRRy (a) e SHEdihe

‘Bacterial leaf blight of Paddy’ is spread by which of the following
pathogen?

(A) Xanthomonas citri (B) Xanthomonas oryzae

(B) Xanthomones campestris (D) Bacillus denitrificans

T Tedroad dien 920 = D Yo § B W Iy v §7
(%) Seradiafe qen qaw (=) Sroraa T2 awRrET
(1) AT <iet N awidrmt (a) e i ‘g iR 1’

In the embryos of a dicot plant and a grass, which are true
homologeus structure?

(A) Epicotyl and radicle (B) Cotyledons and scutellum
(C) Coleoptile and Scutellum (D) BothBand C

g oitar] fra = B B ¥?
(@) a=m (@) PraEEse
(31) Wi (=) T

Putrefying bacteria act upon carbohydrates
(A) Fats (B) Carbohydrates
(C) Proteins (D) Starch



bS

bk

&7

BT Y T

() a1 g (W) weiren g
(71) 314: s (") 39 BTS
Wood fibre is-

(A) Xylem fibre (B) Bast fibre
(C) Heart wood (D) Sap wood

AT =1 1 d3f~h -1 a1 &7
(@) AR ITREm (@) BRysier siRRa
(31) AT PBIoTH (®1) 379 9 B1S T2

What is the Scientific name of red gram?

(A) Cicer arietinum (B) Phaseolus aureus

(C) Cajanus cajan (D) None of these
Frifdeet # SR e B &7

(%) AUC (@) AUG

(1) GUC (u) UGA

Which is the initiation codon in the following?
(A) AUC (B) AUG
(C) GUC (D) UGA
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SImsHl @1 Red Be @ 7
(®) TTo91 (@) ergPoA
(1) R T (9) 3 Q)

Reserve food of Rhodophyceae is?
(A) Starch (B) Glycogen
(C) Floridean starch (D) All of these

el S PR Tl Y Frifha #§ @ few |a @ §?
(F) TN (@) afred
(31) AT (&) A=

Qil yielding plants belong to which of the following family?

(A) Apocynaceae (B) Brassicaceae
(C) Malvaceae (D) Solanaceae
feegera g9 ¥

() AHe TN TR (@) JR F1 MATHR
(1) et Ter id (a) 374 QA BIg 7

Teleutospores are-
(A) White and Powdery (B) Brownish and spherical
(C) Black and elongated (D) None of these
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() smgEt (@) sFTgeE 3§
(1) godg die (=) Y ¥

Isogamy is found in which of the following?
(A) Angiosperms (B) Gymnosperms
(C) Flowering plants (D) Algae

TORE B FHIACH B Weply @ar §P
() srgateTea: afey (@) sgafemmq: e
(71) SerRIF (a) =i 'w’ AR

What is the nature of euchromatin of chromosome?
(A) Genetically active (B) Genetically inactive
(C) Neutral (D) BothBand C

SreurarmTen 41 frefea | aamd’?
(F) ARG (@) =
(1) @Sy (&) Frifafera sreman

Which is long day plant in the foliowing?
(A) Soybean (B) Spinch
(C) Onion (D) Mirabilis jalapa
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FrferRed 9 9 f5a 918 & @il T 9 A 9E da @ forg Y ond 7
() Savey () <

(71) Vit (a1) G-

Which of the following plant is cultivated mainly for edible oil?
(A) Lavender (B) Sunflower

(C) Marigold (D) Khus-Khus

D & Kis) Cis) Ao Gzy TR g bt g & am  wairent 7

(&) qUrATERA (=) s

(1) EHECH (a) argh

The floral formula @ &' Ks) Cis) A G(3) describes about which
family?

(A) Apocynaceae (B) Brassicaceae

(C) Cucurbitaceae (D) Poaceae

1. <. faw &

(&) TTHw (&) eiifts
(1) 9 (1) gorrsH
B.T. toxin is-

(A) Carbohydrate (B) Lipid
(C) Protein (D) Enzyme
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SaHsa | A B A 59 w9 Rer wd) ¥
(@) Ao =H B FR (@) ey R & g
(1) TSI & G D TR (1) wiraroy wiffafyy g

Nitrogen content of biosphere remains constant due to-

(A) Nitorgen cycle (B) Nitrogen fixation
(C) Absorption of nitrogen (D) Bacterial activity
1ed WS dEl o ek g ¥?

() 9re w=n (@) sfereeTan

(1) fur () WS et

The lateral root develops from-

(A) Epidermis (B) Endodermis

(C) Pith (D) Pericycle

ol RESH fat wia b oiran &7

(W) ey (@) el

(1) 3RfrH depew (1) st U=

Transgenic hirudin is obtained from-

(A) Potato (B) Pomato
(C) Ocimum sanctum (D) Brassica napus

Z/
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() 9= URSTd (@) weoral Hay

(1) 3 : YRS (&) srvEe®

Mycorrhiza is an example of-

(A) Ectoparasitism (B) Symbiotic relationship

(C) Endoparasitism (D) Decomposers

&< gy Fr=afaRea # @ feas S &2

(®) Rt (@) Areforen

(1) wRSFern (ur) gedirr ey

Secondary growth occurs in which of the following?
(A) Riccia (B) Selaginella

(C) Marchantia (D) Flowering plants

Fr=ifdea W drer BRI 92 BREH | WRYR giaoif=re g &2

(®) 9t € B (@) wa Ja”

(1) are (&) g o

Beta carotene and ferritin rich transgenic plant in the following is-
(A) BT cotton (B) Flavr Savr

(C) Pomato (D) Golden rice

A)
A
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W 911 19 9 A I O E @ e o § /i ?
() saeiuol & ROl (@) faawer & BRop
(1) 3 : TN9YT & BIROT  (°) FEARIY B BRI

Dry seeds when placed in water swell due to-
(A) Absorption (B) Diffusion
(C) Imbibition (D) Inhibition

Blelclfedmd barded fHfoRad 3 W fova faam o diai 3 Seman &2

() g BT Brel e (@) feretes &1 woe <

(@) T A AaEsT (°) 9 B aSssy ey,

Colletotrichum falcatum spreads which of the following disease in
plants.

(A) Black rust of wheat (B) White rust of crucifers
(C) Red rot of sugarcane (D) Powdery mildew of grass

e &) v ve gleaam ek 7 S 2

(®) SR (&) Ierr

(@) TRIFR (&) e

Structure of Histone in a nucleosome core is-
(A) Tetramer (B) Pentamer

(C) Hexamer (D) Octamer

Z 2
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X O S 3791 A Igerd Ve ¥, 9 1 FEdl i
(@) g (@) siftr i

(M) SHI s AR\ (°) AsdT o

The gene which changes its place is called as-
(A) Transposons (B) Jumping genes

(C) Both Aand B (D) Silent gene

TSi # T UBR &1 Hagd e Bl B7?
() Boarge (HYa ) (@) vfrwongfers
(1) Breteza (a) MfsTa
Roots possess which type of vascular bundle?
(A) Conjoint (B) Amphixylie
(C) Collateral (D) Radial
. =1 9 9 o  wiRisiTeiers T8 7

(%) FraRATS AT (@) drare
(31) B PR ST (a) ArserafeRaH

Which one is not a photoautotroph?
(A) Thiospirillum (B) Algae

(C) Green Sulphur bacteria (D) Mycobacterium

Y
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CHANR BT GIH BT SHA DIFAT &2

(@) =S (@) wifa

(1) Bg= (&) forem
Smallest texon of taxonomy is-

(A) Species (B) Variety
(C) Family (D) Kingdom

< @1 9 FrfoRad 7 fea 919 ¥ e foban e 72
() R & (@) frirer afdRMNfR
(1) Iea HeTSHd (&) Monform wiifesH

Clove oil is obtained from which of the following plant?

~ (A) Curcuma longa (B) Zingiber officinalis

(C) Crocus sativus (D) Sygygium aromaticum

- NIsoieRd fAifed | fheH g e &7
(%) Rfderan (@) ARG
(1) Rrersisen (u) S ‘%’ qen
Rhizophores are found in which of the following?
(A) Riccia (B) Marchantia
(C) Selaginella (D) Both Aand B

5



A

. Ura fobireH Tt fvsas gR1 yveanf fopar w7

(@) fafvaa (@) fegeas

(1) SR (°) TFba

Five kingdom classification has been proposed by whom?
(A) Linaueus (B) Whittaker

(C) John Ray (D) Haeckel

Mg den Fe e &1l wean 2
(@) S P Geryoy # (@) vifd®w 3 & oo §
(71) uoieRa & dvaryo § (a) s 9w

Function of Mg and Fe in-
(A) Synthesis of Proteins (B) Synthesis of Organic acids
(C) Synthesis of chlorophyll (D) All of theses

Fr=rifra A 9 Ay o aad-
(%) AUG (@) UAG
(1) GUG (&) UUU

Which one is termination codon in the following?
(A) AUG (B) UAG
(C) GUG (D) UUU
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(®) @rer saw (@) @ dara

(1) Sredren e (u1) Seden Yrarm

What is truffles? |
(A) Edible fungus (B) Edible Algae
(C) Poisonous fungus (D) Poisonous Lichen

afcrsifas IfRifer frifha % & fra g 2 ¥?

() afRiferam g1 (@) sffRiferm =ieeq

(1) feramey (¥1) Siraropron

Antibiotic Penicillin is obtained from which of the following?

(A) Penicillium nuda  (B) Penicillium notatum

(C) Viruses (D) Bacteriophage

"ol YHR B TR a1 e W W e arg o ¥?

(®) C;—uig (@) C,—ug
(1) agmere 9 (a) T i @’ g T
‘Kranz’ type of anatomy is found in which of the following?

(A) C; Plants (B) C4 Plants
(C) Succulent plants (D) Both B and C

27
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ferermion T 919 | e foean < B2
() drarat (@) wd
(1) wTSHA T (=) urs=Ta AT

‘Chilgoza’ is obtained from which plant?
(A) Algae (B) Fern
(C) Cycas rumphii (D) Pinus gerardiana

TRIIRIR &1 SUART Bl 3
(@) ToiTz¥ & yagq A (@) e & wae= ¥
(@) FrsFNaTES@EEd  (9) 3¢ a9 a0

PCR is used in-

(A) Amplification of enzyme

(B) Amplification of Protein

(C) Amplification of special segment of DNA
(D) All of these

gt gfrl | siger e e -

(@) SU STEal &I T () fererell arerIE=n &) TRB
(71) = B TS (°) 379 A B &

Xylem in dorsiventral leaves is directed towards-

(A) Upper epidermis (B) Lower epidermis

(C) Central position (D) None of these
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(@) rare (@) das

(1) smaTBISET (°) I=A are oY
Amphibians of plant kingdom are-

(A) Algae (B) Fungi

(C) Bryophytes (D) Floating plants

\VL  SrgvarE SeE | R ek 2
(%) gerameu (@) whem
(M aF ‘B T w (u) Swed

Downstream processing includes-
(A) Separation (B) Purification
(C) Both Aand B (D) Production

W)  JEfeeedd B SeTERvT -
() Sraftsforn (@) guiieran
(1) A1 iR ot (u) 379 & w

Example of multiple allelism is-
(A) Haemophilia (B) Colour blindness
(C) Human blood group (D) All of these

A9
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(@) TsH (@)@daQ

(1) Sraifsferan (a) THeis sreifsfew
Which of the following is an autoimmune disease?
(A) AIDS (B) HPV

(C) Haemophilia (D) Rheumatoid arthritis

100 dreme B aRes B ¥?

(%) afers (@) difes
(1) vifes (a) 9iR®

Ecosystem of Pond is-

(A) Benthic (B) Lotic

(C) Lentic (D) Xeric

|9 fewwewta A Fo s srgur o g 37
(@) 3:1 (@)9:7
(1)) 9:3:3:1 (a)1:2:1

In dihybrid cross F, phenotypic ratio is-
(A)3:1 (B)9 :7
(€C19:3:3:i1 (D)1:2:1

30
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Jeitres &1 el SIRTes 2 &
(@) = () erfdre Wier @/ wRuy
(1) B ® fam (&) TN

Basal cell of Ulothrix is-
(A) Green (B) Full of reserve food
(C) Without a nucleus (D) Colourless

UeTIshA A fr=feiRad # 9 9 w1 ww &7
(%) wrelrst, S91, BIge, Bed

(@) wrsem™, T, FHed, Wi

(1) wielsr, siee, gea, iR, o9
(&) Tt fgd, SiFd, Wi, ST

Which of the following sequence in hierarchy is correct
(A) Species, Genus, Phylum, Family

(B) Phylum, Class, Family, Species

(C) Species, Genus, Family , Order, Class

(D) Class, Family, Genus, Species, Order

- wRerd fheor (gew fowon) foba ifdTei @ wefte ¥7

(@) A (@) ergaNm

(1) A (&) A

Astral rays are associated with which organelle?
(A) Lysosome (B) Liposome

(C) Mesosome (D) Centrosome

3/
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34 9 T g 9 PRt dois—ara orn o §°?

() TR (@) A

(1) eireirge (a) e

Parietal placentation occurs in which family?
(A) Asteraceae (B) Brassicaceae
(C) Liliaceae (D) Solanaceae

frr=faRaa 4 @ fFa 919 9@ IR e T wiran 2?2

() Tema (@) drd

(1) g () 37 | BIS T

Morphine is extracted from which of the following plant?
(A) Rose (B) Poppy

(C) Sun flower (D) None of these

IuRac AT : fha SR o1 87
(@) o — fo (@) B — fa=on
(1) v fdvon (&) UV — fom
Mutations are generally induced by-
(A) o - rays (B) B-rays
(C) Gamma rays (D) UV-rays
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79 | DA W wifva RS 8 e

(@) srffeaRm (@) Bler
(1) erEwiTs (%) SeTa
Which is not a water borne disease?
(A) Amoebiasis (B) Cholera
(C) Typhoid (D) Tetanus

fr=fefea & oM I-gefig 99 §?
(®) Tpdrerafy 99 (@) fedioras dig
(1) feperi=a (=) BRYI=

Non-flowering plants in the following are?
(A) Monocot plants (B) Dicotplants
(C) Cryptogams (D) Phanerogams

BIIR ATRTS ® b W A uTe by o &2

(@) ar@ wafif (@) e wafay

(1) 319 : wafAfy (&) SreImaRoT

Coir is obtained from which part of cocont?
(A) Epicarp (B) Mesocarp

(C) Endocarp (D) Seed coat
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fr=iferRea 4 <1 foba IFToFT® & ERT S9! Wioie s Sad) &7

(F) A T 9 B gN (@) eI femy-| & g™

(M) B W " (°) WISPTST B g

Tobacco mosaic disease is spread by which of the following causal
organism?

(A) TMV (B) Nicotiana Virus-I

(C) Both Aand B (D) Mycoplasma

BIRTH™ g frifeea § < gand-

(®) aR® P (@) et B

(1) wTSCIBIvEal (&) TSt

Which of the following is cellular respiratory organ?

(A) Centrosome (B) Golgi body
(C) Mitochondria (D) Glyoxysome

e | g ® fore fhw Wares &1 swETe B 3°

(@) Bam- H1 (@) pBR 322

(1) Ti-wnfows (=) <=1 @’ |1 ‘T’

Which of the following is used as Genecloning vector in plants?
(A) Bam- H1 (B) pBR 322

(C) Ti- plasmid (D) BothBand C



M9 e & SR sriRge R firest o 37
(&) 901 HoT | (@) verfRmaa «
(1) raeY TRl § (|) ergdiemy A PR W

During microsporogenesis, meiosis occurs in-
(A) Pollen grains (B) Endothecium
(C) Microspore tetrads (D) Micropore mother cells

[ro - Frifda | NewyE Yorsy o ouw o
(F) A () Trgfrero
(1) deyfaeraat (a) e i @ g T

Select the restriction enzymes in the following?
(A) Isomerase (B) Exonuclease
(C) Endonuclease (D) Both Band C

2] Siwus gy dw -
() TS Tenr arsilim (@) wefor <en et
(71) T wen wgeRi (&) Tfm @ qRRra

Purines of DNA consist of
(A) Adenine and Thymine  (B) Adenine and Guanine
(C) Adenine and cytosine (D) Adenine and Uragcil

g5
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Srare o1 faeya fora wa 7 3

(P) 91 oNTd B w9 | (@) arJ<eig Thes ® w9 |
(1) ST ¥NeTd ® wY § (=) 379 | |l

Lichens are characterized as-

(A) Purifier of soil (B) Purifier of atmosphere
(C) Purifier of water (D) All of these

. '5ed T’ T8 A BT B

(®) 3 8 @ ¥l (@) ifews et =
(71) TeIgHIcic OB (&) Feneiifaoieie =sh

‘Krebs Cycle’ is also called as-

(A) EMP Pathway (B) Citric acid cycle
(C) Glycolete cycle (D) Glyoxylate cycyle

gt R o= 9 9 {59 ge1 @ oo 8 §°

() AgerT=an (@) fafrra
(1) forgerm . (°) TUASITZIRIE
Hybrid vigour is due to which of the following event?
(A) Linkage (B) Crossing over

(C) Chiasma (D) Heterozygosity

36
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=19 4 oF 9d §7?
(®) OCIMUM SNACTUM () Ficus Bengalensis
(1) Solanum Nigrum (=) Mangifera indica

Which one is correct?
(A) OCIMUM SNACTUM (B) Ficus Bengalensis
(C) Solanum Nigrum (D) Mangifera indica

IR T H 461 B AMEH-veH fhas g B ¥7?
(@) I9S BRI (@) W1 ="
(@)™ (&) aras

In the old stem, exchange of gases takes place by-

(A) Passage cells (B) Hydathodes
(C) Stomata (D) Lenticels
T dronvs fifea 9§ 9 g fagean &

(®) sraiwTEeT (@) eR<w1zE

(1) for=ireges (a) TRreT

Naked ovule is characteristic feature of which of the following?

(A) Bryophytes (B) Pteridophytes
(C) Gymnosperms (D) Angiosperms

Sy
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fr=foRaa /4 & = wiei den 78 ®?

(®) Er=sien (@) g

(1) afemmmfRan (°) YR

Which of the following is not a hydrophytic plant?
(A) Hydrilla (B) Trapa

(C) Vallisneria (D) Tinospora

TS mgediel e yor o1 4§ sy, g qen Brytre e -
(&) Rrfors, TS, @en dier BidTerd

(@) Rrefrs, gt wen Wl yordy

(1) RieefSTs, dieR BIRMAIY T graw

(=) Srarsa, Re=fore aen mufie Yoy

In angiospermic fertilized embryo-sac the haploid, diploid and triploid
structures are- A

(A) Synergid, antipodal and polar nuclei

(B) Synergid, zygote and primary endosperm

(C) Synergid, Polar nuclei and zygote

(D) Antipodal, synergid and primary endosperm

) T ¢ fifehe forer =181 B &7

(®) o= (@) ArgeIoit~gan

(1) eReera® (1) ST

DNA is not present in which of the following?
(A) Nucleus (B) Mitochondria

(C) Chloroplast (D) Ribosome
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o aroEE R $Y U U ) fagd @ e ® o/ @ W R | S T b s
e?

() 42°% (@) 50% — 65°%

(71) 70% — 80°% (=) 90% — 95%

At which temperature a DNA molecule is denatured by heat in PCR?

(A) 42°% (B) 50°c — 65°%
(C) 70% — 80° (D) 90°% — 95°%

| BN B dic B P T B 1 S DT 91 ) i fafite 77

(@) cry Il Ac (=) cry Il Ab
(M cryl Ac (=) cry Il Abc

Which Gene encoding Bt protein is specific for cotton bollworm?
(A) cry Il Ac (B) cry Il Ab
(C)cry I Ac (D) cry Il Abc

BID DD A S TH T DI e A A {6 ToIsH H1 STAR Bl 87

(@) ECORI (m) =1l

(1) eIt (9) BT

Isolation of DNA from a fungal cell involves the use of which enzyme?
(A) ECORI (B) Hind Il

(C) Lysozyme (D) Chitinase

22



freifiRad ferd o srquRer a0 ¥7

() gfsaefean (@) arfeswan

(MeEF ‘s iR" () Ffea

Roots are absent in which of the following?
(A) Utricularia (B) Wolffia

(C) Both A and B (D) Nymphaea

AABBCCaﬁ'\'aabbccﬁéﬁa?TwaﬂﬁwHWﬁﬁ?ﬂﬁwa%w

qIq o &7
(®)3 (@) s
(1) 27 (%) 64

How many types of gametes are found in F, progeny of cross

between AABBCC and aabbcc?
(A)3 (B) 8
({C)27 (D) 64

FTYH B fIeY yoR & oS & €, R o o

() T oIS (@) saRenfye s

(1) IR (@) 379 & =
Mangroves have special type of roots Known as-
(A) Tap root (B) Adventitious root

(C) Pneumatophores (D) All of these
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. Yed ® fael @1 ve sware 3
() @A IqegE (=) gwifean
(1) gt Bt e (=) wgarTTa
An exception to Mendel's law is-
(A) Independent assortment (B) Dominance
(C) Purity of gametes (D) Linkage

@ waH d T qen ois @1 faera fAefoRad | @ fead gra RuiRe fsan
SIGIRF

() araEr

(@) gomgH

(1) Siffeor den wEeesia @1 s

(&) dieviye T

Development of shoot and root in tissue culture is determined by
which of the following?

(A) Temperature

(B) Enzyme

(C) Auxin and cytokinin ratio

(

D) Plant nutrients

Y
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I | DI A1 SHolP a8F B B?

(%) efm (@) Sahwrsfer

(1) Bt (&) <1 @’ T
Which stimulant is present in tea?

(A) Tannins (B) Theophylline
(C) Caffeine (D) Both Band C
SRR o1 Rigia feas g1 = mn?

(@) SRfe= (@) «rHrs

(1) & = Fr (u1) 3R

Theory of pangenesis was given by-
(A) Darwin (B) Lamarck
(C) Hugo de vries (D) Oparin

BTt @St &1 ATl B9 g §7?

(@) ufcrere (@) srgare=

(1) ufcrep~on (a) 9reTHA
Okazaki segments are formed during
(A) Transcription (B) Translation
(C) Replication (D)Transduction
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B T T 7Y W e W ) B e vean 7

() w=figs (@) et

(71) 3 T3 T gieiave-| (&) S TH T yreimva- il
Which one is involved in DNA repairing?

(A) Permease (B) Ligase

(C) DNA polymerase-I (D) DNA Polymerase-llI

JTH F21 TRIEA fFr=rifa fora urer fean e &7

(@) (@) Mafrarn

(1) TR (&) defes

Opium and heroin are obtained from which of the following?
(A) Thea (B) Theobroma

(C) Papaver (D) Cannabis

‘feAfRIR’ o I &1 Ue fovw ¥, o 9 9 fovss 91 & forg wfoReh &2
(P) e =R (@) Siram] <ige
(1) wferai wen ¥Ry we (1) HISITUe TSR

‘Himgiri’ a variety of wheat is resistant to which of the following

disease
(A) White rust (B) Bacterial blight
(C) Leaf and stripe rust (D) Mosaic virus

b=
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3T D SENRIe Se1e & foru fhvas Fr=faRag § W fras g1 fvan s
7
(&) SreeraRer (@) WeHsaw

(@) AT (a) Je_rTES

Fermentation for industrial production of ethanol is carried out by
which of the following?
(A) Lactobacillus (B) Streptomyces

(C) Acetobacter (D) Saccharomyces

et gRa Yrarel a2 Sirare] # e \ger o g ¥7

(@)1 (=) 2

(71)3 (=) 4

The blue green algae and bacteria contain how many linkage group?
(A)1 (B)2

(C)3 (D) 4

ferafeaRaa i oM ¥ “RQR Agw1 6 o W v &2

CIRICE] (@) wifd
(71) == (&) 379 & W

Lysine rich maize variety in the following is
(A) Protina (B) Shakti

(C) Rattan (D) All of these

1Y
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TS 91 =4 uferdl aren segfie e H | oe R

() ersfyen (@) tHfeman
(71) smsdiftEr (") 399 | 9

A rooted hydrophyte with floating leaves in the following is?
(A) Hydrilla (B) Nymphaea
(C) Eichhornia (D) All of these

forferRaa # 1 S q2n sl @1 fhvas Toic ®F A1 8?2

(F) SYRMTSHS (@) IeRMTSES AR

(31) RUCIDITHT Widhferd (a) Fir<Ifsan gieRew

Which is fermenting agent of dosa and idli in the following?

(A) Deuteromyces (B) Saccharomyces cerevisiae

(C) Streptococcus faecalis (D) clostridium butyricum

" ferfi= By, fohad ure 2 27

(%) aRrera waersfera (@) ararafeRa
(31) 9T STy (9) RemsHs Rawa

Vitamin B, is obtained from-

(A) Bacillus subtilis (B) cyanobacteria

(C) Propionibacterria (D) Streptomyces rimosus

s
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